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STATISTICS 200 EXAM 2

_ {f 7 '
PRINT NAME net ID
(Last name) (First name) (University e(cﬁ,uil)
Circle Section: L1 or Online (

READ THIS —We’ll deduct a point from your exam if you don’t circle your section :
write your hame and netID clearly.

Write answers in appropriate blanks. When no blanks are provided CIRCLE vour answers.
#HFFWARNING: When we say “NO WORK, NO CREDIT”, we mean it. You’ll get a 0.

Do NOT use scrap paper. If you need some, ask a proctor.

No notes or books are allowed. Calculators (including graphing ones) are allowed.
Do not use your own scrap paper. If you need some, ask a proctor.

Make sure you have all 11 pages (9 problems) including the Z, t, F and Chi-Sq tables,

DO NOT WRITE BELOW THIS LINE

The numbers written in each blank below indicate how many points you missed on each page. The numbers
printed to the right of each blank indicate how many points each page is worth.

Pagel___ 16
Page2 18
Page3_ 9
Paged 13
Page5 20
Page6___ 15
Page7 9
Score ___

NO CLASS on Thursday!

Scores will be posted on Compass Thursday night and exams will be retdrhed~in class after
break.
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Question 1 (16 pts.)
We're trying to fit a simple linear regression model for the whole population: Y=, + p,X + €. (Assume ¢ are independent and normally
distributed with constant variance). We draw a random sample of n=7 from the population and get a sample correlation
r = 0.6. Compute the 4 test statistics for testing the null Hy: ;=0 (same as testing Hy: I'poputaion=0-)
(Round your final answers to 4 decimal places, but don’t round during intermediate steps.)

a) (4 pts.) Now compute the 4 statistics below. Show work below your answers. *¥*NO WORK, NO CREDIT*##**

|z x? t F
Compute the Z= Lq&’ 2, 7 t= léX F= 2/
X
values of the 4 (1 pt.) (1pt.) (1pt) ﬂ pt.)

ot

answers. j' 6 ‘f _E)-:.Zq

No work, no
credit.

test statistics. ﬂ -
Sh X /
st N Tlgpe |\ T e s

[

L c.C

b) (8 pts.) Compute the p-value for each statistic. (No work necessary)
Assume the alternative for the Z and t test is: H,: 8, > 0, and assume the alternative for the y*and Fis: H,: B, 20.

1) 1% 1ii) 2% 1% ii)2% iii) 4%
vi) 7.7%(v) 154

Z ) a t F
(1 pt.) 2 5% (1pt.) 5 % (1 pt) Choose@ (1 pt.) Choose one:
‘ 1) 7.7%

(1 pt.)Label Z on the normal curve

below and shade the area I{ow many degrees of
representing the p-value. How many degrees of freedom? How many degrees of freedom
freedom? ___} (1 pt) in numerator?
({pt) in denominator?,
(Ipt)

*If Z is between 2 lines on the Normal Table you may approximate middle area.

¢) (2 pt.) Suppose our sample y values are: 1,2, 3,4, 5, 6,7. Compute the SST. Show work. No work, no credit.

E3)% ) (o' T2 3T 12K

d) (2 pts.) Compute SSM{ 0; 05/ Show work. No work, no credit.

- e Yron
03¢(28) = [16.08 | ¢
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Question 2 (6 prs.) Let's say we're trying to figure out if X causes Y and the data consists of 2 prior groups, A and B. _
For each plot below (displaying two separate groups) indicate whether they display only interaction, only confounding, both or neither.
Fill in the blanks with the correct plot number (1,2, 3 or 4) ' ' o e

d) Plotl Neither

a) Plot Z only interaction b) Plot _ 3 only confounding c)Plotl both

Plot 3 Plot 4
Plot1. Plot 2
!‘. M:‘
¥ ‘ e
3 N o o
. ™, . .."':f‘é hid S oot
N 4 * s + * Y
! SR B CARY o84 b Vvl - Y
. N v ae e M * 58 Lo XM P f T J R
- PO A 1 LS L S L= % WYY N NN
: ; R e A P Nl T el
¥ R 2 : Yt RV e
5 A = et P . ikt
‘ Lo P X . ik jow
g s gy 4
>

. av
Question 3 (6 pts.) NO bk» #\!. O d@S}r}lplé,g:atter ;E)t and regression equation:

Suppose a random sample yields rq;seef points: (1, 12), (3,10), (8, 44).

¥ =22 and SST="72§ . y=2+5x
Compute SSM and SSE. Show work below each answer. 4% | .
. . ) ey | e 4
i) SSM= AS_O i .
Show work, No work, no credit. 2 EE |
30
o -
G"D‘% = lL7-2_2> e 64{2—27; : 25!
15 |
7 g 1% * //" -
- s
L
i) SSE=__F G 01 2 3 &4 5 5 7 8 3

Show work. No work, no credit. 5

T2 6 650 = 1%

2 >
é( L?!_—DZ._{_ (lﬁ*l7) - (_Lfk‘[— b/?.)

Question 4 (6 pts.) Suppose A and B are 2 drugs designed to increase exam scores. The numbers in the table indicate the mean
increase in exam scores from those who received A alone, B alone, neither or both. Each table describes a different hypothetical study.
Fill in the 8 blanks in the tables so they match their equations and fill in the 4 blanks in the equation so it matches its table. (1/;
pt for each box and blank correctly answered.) No work necessary.

Exam Increase=4A + 6B

Exam Increase= 4A + 6B + 3AB

A=0

A=1

Exam Increase = _J  +

A QLAB

" | | A=0 [ A=1 A=0 | A=]
= O Lf ]i:,=0 6 L‘f | B=0 |2 5
| B=1 é _!_(_J ’7B=1 Q g B=1 |7 15
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Question S (9 pts.) »
The scatter plots below show the survey responses of the 40 Greeks (fraternity or sorority members) and 200 non-Greeks in Stat 200 to
the 2 questions: “How many drinks do you consume per week?” and “What percent of your tuition are your parents paying for?”

Both scatter plots break the data into Greeks and non-Greeks and fit separate lines for each gender. Plot A forces both groups to have
the same slope and Plot B fits the best slope for each group.

Plot A Plot B
Tustion tuitor:
00 @t e 3 R * - * » « ;ogf Foaae ge F A . ] - o
Taemseh e . e s o e
80 e e . go-lie o
T . . ¢ . e
ok I R e e == | 60- . e
2 I s La—v B .
& & 40 ¢
20 LRl 4 20+ S
[P ¥ 04 miw P .
o 0 P 30 0 50 F e S S 50
Dirinks per week Deirks per week
Non- Greek: Tuition= 81 - 0. 14 (Drinks) Non-Greek: Tuition = 83 — 0.76 (Drinks)
Greek: Tuition = 63 - 0. 14 (Drinks) Greek: Tuition = 50 + 0.91 (Drinks)

a) (2 pts.)Translate the 2 simpie regression equations from Plot A into the multiple regression equation below.(Fill in the 3 blanks.)
Assume Greek is a 0-1 variabljsodcg‘rﬁith Non-Greek=0 and Greek=1. No M{grk necessary.

\ty Q( ¢ \ ¢
. - @
Tuition =<5)__+ “O NS @rinks) + 1 & (Greek)
A~ /a2 i
b) (2 pts.)Translate the 2 simple regression equations in Plot B into the multiple regression equation below. (Fill in the 4 blanks.)
No work necessary.

1 l 1 Tuition = q 3 + g ; (Drinks) + l‘:ﬁ (Greek) + ___ (Drinks*Greek)
3 -0, 76 - 373 \ 6
ﬂr ¢) (2 pts.) Which plot gives exactly the same regression equations you'd get if you split the data in two and drew separate scatter plot:
for Greeks and Non-Greek? Choose one: i) Plot A i1) Plot B

d) (I pt.) How would you interpret the slopes in the 2 regression equations given in Plot B?
On average, for each drink, parents of Greeks pay 0.9% more tuition and parents of non-Greeks pay 0.76% less tuition.
1) On average, for each percent tuition, Greeks have 0.9 more drinks and non-Greeks have 0.76 less drinks.
iii) The best estimate of the percent tuition for someone who has 0 drinks.
iv) The best estimate of the number of drinks for someone whose parents pay 0% tuition.

e) (I pt.) How would you interpret the y- intercepts in the 2 regression equations given in Plot B?
i) On average, for each drink, parents of Greeks pay 0.9% more tuition and parents of non-Greeks pay 0.76% less tuition.
if) On average, for each percent tuition, Greeks have 0.9 more drinks and non-Greeks have 0.76 less drinks.
(P The best estimate of the percent tuition for someone who has 0 drinks.
iv) The best estimate of the number of drinks for someone whose parents pay 0% tuition.

f) (I pt.) If you switched the code to Greeks=0 and Non-Grecks=1, which of the following would change?
Circle all that would change:
i) Scatter Plots pictured above { ii) Multiple Regression Equations iii) Simple Regression Equations
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Question 6 (13 pts)

March 14,2018

In the same survey students also reported their ACT scores. Here’s the multiple regression equation predicting the percent tuition
parents pay from ACT scores and # of drinks for the 240 students who resporided to the survey:

Tuition =—1+ 2.7(ACT) - 0.5(Drinks)

a) (5 pts.) To test'th'e overall regression effect, Hy:R=0 against H,:R=0 fill in the missing blanks in the ANOVA table.

S
.

Soﬁrce' SS (Round to nearest df MS (Round to 2 decimal | (Round to 2 decimal places)
whole number) places)
Model $SM=28,393 (0.5 pt) (0.5 pt) (0.5 pt) F=
No work, no credit. No work, no credit.
28,393 =
2 PV = Joe. s -
1 a1 - N 552L
4 19¢.S | quy 55T
Error (0.5 pt) SSE= (0.5 pt) (0.5 pt) (0.5 pt) SD* ;=
| No work, no credit. No work, no credit.
216,565 |37 26854377 NG
qI4,771
q14.79
Total SST= 245,198 (0.5 pt) Nothing goes in this box. | (1 pt) R%=
2 % q No work, no credit,
RE 393 - 0.\ ﬁ o
| | 2495 (9%

b) ( 2 pts.) When the null is true you’d expect the F stat to be about l .

¢) (2 prs.) Comparing the E

value to be 7 ) <1% ii) 1% to 5% iiii) 5% to 10%

d) (2 pts. )Another way to compute the p-value is by the re-

Ol UV oot

randomization test. The histogram on the right shows the Density
randomization test results of 50,000 randomizations showing the 1000
distribution of R’s.
‘What does the vertical line mark? 800 +
i. the specified significance level o :
ii.__the randomized R’s that land at p-value = 0.5 % 00
he value of our sample R. |
. L . 400 1
) (2 pts.) The p-value given by the randomization_test is
clogesttp ....
70 2CC -~
i) 1%
iii) 5% o
iv) not enough info 01

| got in (a) to what you’d expect under the null (or by looking on the F-table) you can estimate the p
iv)> 10%
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Question 7 (20 prs.)Suppose the Final Exam scores, quiz scores and lab scores of 33 randomly selected students from a large Physics

class of 2000 students yielded the following multiple regression equation with R= 0.5 Final= 50 + 0.3(Quiz) + 0.1(Lab)

a) (2 pts.) The above equation describes the best fitting

inthe . -
Circle one for the 1* blank: a) line._ @F_e b c) ellipsoid d) cube
Circle one for the 2" blank: a) Final Exam Scorei/ b) Quiz scores ¢) Lab scores

b) (2 pts.) The multiple regression equation for all students with Labs = 70 simplifies to F= [) E +_ bt i;iluiz)

through all the points so as to minimize the squared errors

¢) (2 pt.) The multiple regression equation predicts Doug to have a Final score of 70. If Alex scored 10 points higher than Doug on

the quizzes and 20 points higher on the labs what’s Alex’s predicted Final score? [ S

o + 0.3+ B Ol (20
d) Do the F test for the overall regression effect for the model: Final= 50 + 0.3(Quiz) + 0.3(Lab) R= 0.5 and n=33
R*=(,23 and1-R’=

F-test (5 pts)

(2 pts.) Compute the F statistic. Show work. No work, no credit.

.25 o
035 30 (5]

o,‘?S

(I pt.) Look at the F table. What is F*(the critical value of F) at o= 0.01? Fx=_" -2 . 3 90 3

(2 pts.) Our F test stat S_F so our p-value is _than 1%. 6 b
7 e From T -sked |

Fill in the two blanks with either <, >,or = ¢

¢) (I pt.) Suppose you decided to reject the null at o = 0.05 , you’d conclude that l: -S t-\a(— > S. BHRKL 3
iy  Both slopes must be significant.
ii)  The Quiz slope must be significant. Yhoh 7 <
fii) The Lab slope must be significant.
iv)  The intercept must be significant.
@ Either the Quiz or the Lab slope or both must be significant.

f) (I pt.) To see which slope is significant in the multiple regression equation ﬁinal = 50 + 0.3(Quiz) + 0.1(Lab) the computer
ran a Z test and a t-test. Which table shows the t-test? Circle one:

i) Table A @ iii) Not enough information to determine
Table A TableB
Slope SE torZ P Slope SE torZ p
Quiz | 03 0.1 | 3 0.185% Quiz 0.3 0.1049 2.86 0.365%
Iab |01 |008 [125 [10565% Lab 0.1 |00839 |1.192 [1209% |

g) (I pt.) How many degrees of freedom for the t-test? ,_SQ

) (2 pts.) Another variable is added to the model. Will R? go up or down?
i) R? will go up or stay the same, it can’t go down.
it) R? will go down or stay the same, it can’t go up.
jiiy  R?could go up, down or stay the same depending on the variable.

i) (2 prs.) Let’s say a 3rd variable that’s correlated with the Final is added to the multiple regression model and the Quiz and Lab
slopes stay the same. You can conclude the 3" variable must be
i) correlated with either Quizzes or Labs.
i) _correlated with both Quizzes and Labs.
d} uncorrelated with both Quizzes and Labs.
iv) negatjvely correlated with Quizzes and positively correlated with Labs (or vice versa) so their effects cancel out.

j) (2 pts.) How was the multiple correlation, R= 0. 5 calculated?
i. It's the correlation between the Final scores, quiz scores and lab scores after they’ve been converted to Z scores.
It’s the correlation between students’ actual Final scores and their predicted ones from the multiple regression equation.

5
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Question 8 (7 5 pts.)Last semester 1575 students reported how many sex partners they’ve had and they identified their ethnicity.
Imagine these students were randomly chosen from a much larger population. Here are the results:

| Ethnicity _Average number of partiers | SD (rounded) [ n |
White 34 6.5 650 SD* oirors = 6.6
| Black 2.7 - | 6.5 134 (Use SD* ... as a pooled estimate
Hispanic 4.0 7.8 207 for the SD* of each group)
East Asian _| 2.03 6.3 410
South Asian | 1.1 2.9 100
Other 3.77 8.8 74

a) (1pt.) To testthe null hypothesis that 1l 6 group means are the same in the population, compute the %7 test statistic.

R=0.125 Noworknoeredit. (5, ]3'S z 1STST =
b—0.123* .
b) (1 pt.) When the null is true the mean of the x” statistic = é (Write a number in the blank.)
€} (I pt.)Lookatthe % table. What is > * (the critical value of %) at’ (x = % QO] : 2 Q 52
d) (Ipr.)Our y* test stat _z x*", so our p-value is $ than ,%él Fill in the two blanks with éither <, >,or =

e) (1 pt.) What do you conclude? Choose one.
i) That all the group averages are significantly different from each other in the population
)  Thatas least one of the group averages is significantly different from the others in the population.
fii) That none of the group averages are significantly different from each other in the population.

f) Compute the t-statistic to test whether the difference in group averages between “Other and “South Asians” is statistically
significant.

i) (2 pts.)What is the SErence? Use SD'_ = 6.6 Round to 3 decimal places. No work, nio credit. Circle answer.

= b 1= Lolx
664 M F’M log- ol

i) (2 pt.) What is the t-statistic? Round fo 3 decimal plar:es No" work, no credit. Circle answer.
.6 vV )
iv) (2 pts) The p-value is about 0.84%. The Bonferroni correction would change the p-value to _\ A ,@. ©. S‘-( ¥ t5’7

v) (1 pt.) Is the difference between the 2 group averages statistically significant at the 5% level? i) Yes ‘ii) Nﬁ

2)( 1 pt.) The Bonferroni correction lowers the probabili(;;fslf). .. Choose one.

A
i) Not detecting a difference that really exists| ii))Detecting a difference that really doesn’t exist iif) Both iv) Neither

h) Now let’s test the same null (Ho: Rpopuisiion= 0) against the same alternative (Ha: Rpopularion # 0) using the randomization test.
The histogram below shows the distribution of R’s resulting from 100,000 randomizations.

Bensity
8800~ - - .
i) (1 pt) How was each randomization done? "
. The 1575 predicted responses were randomly distributed among the 6 ethnic groups.
b,) The 1575 actual responses were randomly distributed among the 6 ethnic groups 2000
¢. Each actual response was randomly assigned to one of the 6 ethnic groups with
equal probability. | _

oo~ o i [kl

if) (1 pt.) The vertical line falls between 0.1 and 0.15, give its exact location.

9 ‘9‘5 be.l =

6
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Question 9 (9 pts.)
_ 9 numbers are divided into 3 groups as shown below.
Group 1 Group 2 Group 3
0 4 5
12 6 7
4 8 9
Mean=2 Mean=6 Mean=7 Overall Mean=>5

%

ZG-9)

T

The SST is given to you in the table below.

a) (2 pts.) Calculate SSB. No work, no credit.

3(2-5)% ¢ 3(¢—-S)"

3, 9

20

b) (2 pis.) Calculate SSW. No work, no credit.

Either (b~
2% @A o &

r Y

S22
D e U6

-+

£

el

PO*'(Y'QL
Yy L0 4+4

March 14,2018

¥ 73 (’Y—S}L

s

H2)

) e
G- s o+

4 Lo tY = @

¢) Fill in the blanks on the table below by writing in your answers for a an b and completing the other 8 boxes.

(4 pts, 0.5 for each box)

]

Source | S§S (Sum of Squares) df Mean Square -
Model | SSB= Fsae 9.25
42 A Y
Error SSW= il
é S D+cmlrs=2')7
2.5
| Total SST= 66 Don’t fill in this box.

R’= 0 ’ 6 J No work, no credit,
o = 064

l (Round to 2 decimal places.)

d) (I pt.) p-value is closestto i) 0.1%

i) 1% @iv) 10%
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Critical Values for F distribution at p = 5% and p = 1%

{-’- Qisfribu!ion "cgitical values for P=0.05

“: Nnomfmmr

|
?

Hamtm{or DF )

60 | 120 | 5 sao :stzo
25220 25925 ' 28
19479 « 19487 : 19.994 |
el S

3 11012665322 92?&3 8.1172 |
4 | 27088 59443 65915 53862 ! 525603"'..
:

7

66078 57862 14795 51922 50504 | 48769 4 ¥ _
55914 "a.797h 43460 41262 38r1b ] 3787 35108 3:4445 | 33758 B.IMI 3
10 | 49645141028 37082 34780 3428 78460 2./74% | 26996 . 26210 2
15 | 45431 36823 32874 30556 2001327060 25437 24035 23275 22457 24601, 2.1%

| 26 |43512'3.4020 30985 28660 2710924140 20476 22032 2424% 20357 10463 18962 1

E Distribution criffcal values for P=0.01

’6“ b&nwmawr ' o o
" [ Numerator OF - ‘ -
(ofF | + [ 2 [ s [ 4 [ s [ 7 [ 1 | 5 [ 20 [ 3 [ e | tz0 | 500 | o8
174 [40522 49996 54034 56246 57636 | b 59284 60558 61 573 | 6208.7 (6260 8 6313.0 1 63304 63506 63627
(- sssas swca'_. : &% 39 99 'e;asa. ma@gs 433 99440 99468 99482 9848 g7 68408
e e ea ey 15
21.198 1 18,000 8 13652 13658 13474 -
16258 13274 12,060 : 392020 G 24 90314
T e e .éim S lesist s emen satles s
10 | 1004a 7.8504 5.{,’5523?sa.gmé‘s-asaszszw-46452 45582 | 4.4055 - 42469 40818 39954 3,919y
15 186831 6.3588 54169 - 48032 | 45557 | 41416 38040 352281 3. © BDATY 20554 28906 28766
20 |8.0860 | 56489 49362 44305 |4 1027 36987 29682 3,0880 | 20377 2778Y 208078 25187 2. 24330
|80 | 75624 53903 45008 , 40779 36480 | 336 20781 27002 | 25486 23BSS 22076 24 20002

£

|60 |710M1 49774 4125913 20500 28318 23522 24078 20284 1.8362 17264 16328 16160

C2THE 24720 2

120 | 6.85C9 47865 3.8480 3
500 | 6.6 3e210,
| 1000 | 6:6603 . 4.6264 3.8012

18600 1.8557 16380
53 1L/

17188 1. 4953 1.8513 . 1,1947

1
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Chi-square table

n
54
[T T — ==

1

%Eegr&eg of feedom | 30%] 10%| 3%| 1%[0.1% <+ v-value
: 1 | 1.07| 2.71| 3.84| 6.63|/10.83
| 2.41] 4.61] 598| 9.21[13.82,
| 3.66] 6.25| 7.81[11.3¢}16.27
[ 488 7.78| 0.408(13.25[16.47
| 5.06] 9.24|11.07|15.5920.52
T 7.23/10.64(12.58|16.81[22.46
| 8.38(12.02|14.07 |18.48|24.32,
| 9.52/13.36(15.51|20.08[26.12
'10.66|14.68|16.92|21.67|27.88,
[11.78{15.00|18.31 |23.21 {20.59,
12.90(17.28|19.68|24.72/31.26
114.01]18.565|21.03|26.22|32.91
13 115.12]19.81 [22.36|27.60|34.53
i |16.22]21.06|23.68 (29,14 36,12
15 I17.32|22.31|25.00|30.58|37.70
16 T 118.22|23.54|26.30(32.00]39.25
17 119.51|24.77 |27.55(33.4140.79
18 60/25.99 |28 87|34 81 42.31
19 i 27.20 30,14 | 36,10 143,82
20 |28.41|31.41(37.57]45.31
21 36|29.62 | 32.67 | 38.93 | 46,80
R 494 |30.81 |33.92|40.2048.27
23 26.02|32.01|35.17 4164|4973
24 1033.90(36.42(42.08(51.18

| 0O |~ | G bm b | (2

1

H ¥

r-i
K3

+— Uni-sygare
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Susderts surve, dith e amy The s
tegmesof rescorshoan Student’s +TABLE Shurs sore et
Adeietolhe e Aetiie -

t iz ghowr i e

Bodyof the bble
Degrees of _ _

freedom 25% 10% 5% - 3% 1% 0.3%
1 100 308 6.31 1271 3182 63.66
2 082 189 292 130 6.96 582
'3 0.76 1.64 235 318 154 5.84
4 0.74 1.53 213 278 375 4.60
5 0.73 1.48 202 2.57 336 4.03
6 0.72 143 194 245 314 37
7 071 141 1.89 236 300 3.50
g 0.71 140 186 231 290 336
9 0.70 1.3%8 183 226 282 335
10 0.70 1.37 1.81 223 278 3.17
11 0.70 1.36 1.80 220 272 31
1 0.70 136 1.78 218 268 3.05
13 0.69 1.35 1.77 J18 2465 301
4 0.69 135 1.76 213 2.62 298
15 0.69 i34 175 213 260 183
16 0.59 134 175 212 138 292
17 0.69 1.33 1.74 L1 2.57 2.50
18 0.68 133 173 210 235 2.88
19 0.69 133 173 109 254 286
20 0.69 133 172 2.09 253 285
21 0.69 132 | J 208 252 283
22 0.69 1.32 1.72 247 151 2.82
23 0.69 132 171 207 2.50 2381
24 0.68 132 1.7t 206 249 280
25 0.68 132 1.71 206 249 179

10
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STANDARD NORMAL TABLE

Area Height
{percent) (percent)

March 14,2018

-z 0 z
Standard Units
z Area | | z Area |z Area
0.00 0.00 [1.50 | 86.64 3.00 | 99.730
0.05 3.99 [1.55| 87.89 3.05| 99.771
0.10 7.97 1.60 | 89.04 3.10| 99.806
0.15| 11.92 1.65 | 90.11 3.15| 99.837
0.20 | 15.85 1.70 | 91.09 3.20 | 99.863
025 | 19.74 1751 91.99 3.25 | 99.885
0.30 | 23.58 | 1.80 | 92.81 3.30 | 99.903
0.35 | 27.37 1.85 | 93.57 3.35| 99.919
0.40 | 31.08 1.90 | 94.26 3.40 | 99.933
0.45 | 3473 1.95| 94.88 3.45| 99.944
0.50 | 38.29 2.00| 9545 3.50 | 99.953
[0.55| 41.77 2.05| 95.96 3.55| 99.961
0.60 | 45.15 2.10 | 9643 3.60 | 99.968
0.65 | 48.43 2.15| 96.84 [ 3.65| 99.974
0.70 | 51.61 220 97.22 3.70 | 99.978
0.75 | 54.67 l, 2.25| 97.56 3.75| 99.982
0.80 | 57.63 2.30 | 97.86 3.80| 99.986
0.85 | 60.47 2.35| 98.12 3.85] 99.988
0.90 | 63.19 240 | 9836 3.90 [ 99.990
0.95 | 65.79 245 | 98.57 3.95 99.992
1.00 | 68.27 2.50 | 98.76 4.00 | 99.9937
1.05 | 70.63 2.55| 98,92 4.05| 99.9949
1.10 | 72.87 2.60 | 99.07 4.10 | 99.9959
1.15| 74.99 2.65| 99.20 4.15 | 99.9967
1.20 | 76.99 270 | 99.31 420 | 99.9973
125 | 78.87 | . 2751 99.40 4.25| 99.9979
1.30 | 80.64 | , |2.80| 9949 430 | 99.9983
1.35 | 82.30 2.85| 99.56 435 | 99.9986
1.40 | 83.85 2.90 | 99.63 4.40 | 99.9989
1.45| 85.29 295] 99.68| | 4.45] 99.9991
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